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1. If momentum [P], area [A] and time [T] are taken as fundamental quantities, then the dimensional

formula for coefficient of viscosity is:

;fn laosx [P], {ks=Qy [A] ,oa le; [T] dk iz;ksx ewyHkwr jkf'k;ksa dh rjg fd;k tk,] rks ';kurk xq.kkad dk foeh; lw= gksxk%

(1) [P A–1 T0]

(2) [P A T–1]

(3) [P A–1 T]

(4) [P A–1 T–1]

Question ID:100031

Ans. Official Answer NTA (1)

Sol.

2. Which of the following physical quantities have the same dimensions ?

(1) Electric displacement  D


 and surface charge density

(2) Displacement current and electric field

(3) Current density and surface charge density

(4) Electric potential and energy

fuEu esa ls fdu HkkSfrd jkf'k;ksa dh foek,¡ leku gSa \

(1) oS|qr foLFkkiu  D


 ,oa i`"B vkos'k ?kuRo

(2) foLFkkiu /kkjk ,oa fo|qr {ks=

(3) /kkjk ?kuRo ,oa i`"B vkos'k ?kuRo

(4) fo|qr foHko ,oa ÅtkZ

Question ID:100032

Ans. Official Answer NTA (1)

Sol.

3. A person moved from A to B on a circular path as shown in figure. If the distance travelled by him is 60

m, then the magnitude of displacement would be:

(Given cos135º = –0.7)

fp= esa n'kkZ;s vuqlkj] ,d O;fDr fdlh o`Ùkkdkj iFk ij fcUnq A ls B ij tkrk gSA ;fn mlds }kjk r; dh xbZ nwjh 60 m gS,

rks foLFkkiu ds ifjek.k dk lfUUkdV eku ___m gksxkA

(fn;k gS]  cos135º = –0.7)
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O

135°

B

A

(1) 42 m

(2) 47 m

(3) 19 m

(4) 40 m

Question ID:100033

Ans. Official Answer NTA (2)

Sol.

4. A body of mass 0.5 kg travels on straight line path with velocity v = (3x2 + 4) m/s. The net workdone by

the force during its displacement from x = 0 to x = 2 m is:

0.5 kg nzO;eku dk dksbZ fi.M] ljy js[kh; ekxZ ij v = (3x2 + 4) m/s osx ls pyrk gSA blds x = 0 ls x = 2 m foLFkkiu

ds nkSjku] cy }kjk fd;s x;s ifj.kkeh dk;Z dk eku gksxk%

(1) 64 J

(2) 60 J

(3) 120 J

(4) 128 J

Question ID:100034

Ans. Official Answer NTA (2)

Sol.

5. A solid cylinder and a solid sphere, having same mass M and radius R, roll down the same inclined

plane from top without slipping. They start from rest. The ratio of velocity of the solid cylinder to that

of the solid sphere, with which they reach the ground, will be:

M nzO;eku ,ao R f=T;k okyk ,d Bksl csyu ,oa leku nzO;eku M ,oa f=T;k R okyk ,d Bksl xksyk,  fdlh vkur ry ij

fcuk fQlys fLFkj voLFkk esa Åij ls yq<+duk izkjEHk djrs gSaA /kjkry ij igq¡prs le;] Bksl csyu ds osx ,oa Bksl xksys ds osx

ds vuqikr dk eku gksxkA
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(1) 
5

3

(2) 
4

5

(3) 
3

5

(4) 
14

15

Question ID:100035

Ans. Official Answer NTA (4)

Sol.

6. Three identical particles A, B and C of mass 100 kg each are placed in a straight line with AB = BC = 13

m. The gravitational force on a fourth particle P of the same mass is F, when placed at a distance 13 m

from the particle B on the perpendicular bisector of the line AC. The value of F will be approximately:

100 kg nzO;eku ds rhu ,d leku d.k A, B ,oa C, bl izdkj ,d ljy js[kk esa j[ks gSa fd AB = BC = 13 m A leku

nzO;eku ds fdlh pkSFks d.k P ij xq#Roh; cy dk eku F gSA js[kk AC ds yEc lef}Hkktd ij] d.k  B ls 13 m dh nwjh ij

P j[kk gqvk gSA F dk lfUudV eku gksxk:

(1) 21 G

(2) 100 G

(3) 59 G

(4) 42 G

Question ID:100036

Ans. Official Answer NTA (2)

Sol.

7. A certain amount of gas of volume V at 27ºC temperature and pressure 2 × 107 Nm–2 expands isothermally

until its volume gets doubled. Later it expands adiabatically until its volume gets redoubled. The final

pressure of the gas will be (Use  = 1.5) :

V vk;ru dh dqN fu;r ek=k dh xSl dks 27ºC rkieku ,oa 2 × 107 Nm–2 nkc ij] lerkih; izØe ls] bldk vk;ru nksxquk

gksus rd izlkfjr fd;k tkrk gSA blds ckn] ls #)ks"e izØe ls bldk vk;ru fQj ls nksckjk nksxquk gksus rd izlkfjr fd;k

tkrk gSA xSl ds vafre nkc eku gksxk% (fn;k gS  = 1.5) :
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(1) 3.536 × 105 Pa

(2) 3.536 × 106 Pa

(3) 1.25 × 106 Pa

(4) 1.25 × 105 Pa

Question ID:100037

Ans. Official Answer NTA (2)

Sol.

8. Following statements are given:

(A) The average kinetic energy of a gas molecule decreases when the temperature is reduced.

(B) The average kinetic energy of a gas molecule increases with increase in pressure at constant

temperature

(C) The average kinetic energy of a gas molecule decreases with increase in volume

(D) Pressure of a gas increases with increase in temperature at constant pressure

(E) The volume of gas decreases with increase in temperature.

Choose the correct answer from the options given below:

(1) A and D only

(2) A, B and D only

(3) B and D only

(4) A, B and E only

fuEufyf[kr dFkuksa ds vuqlkj %

(A) fdlh xSl ds v.kq dh vkSlr xfrt ÅtkZ ?kVrh gS] tc rkieku ?kVrk gSA

(B) fu;r rki ij nkc c<+us ds lkFk] fdlh xSl ds v.kq dh vkSlr xfrt ÅtkZ c<+rh gSA

(C) vk;ru c<+us ds lkFk] fdlh xSl ds v.kq dh vkSlr xfrt ÅtkZ ?kVrh gSA

(D) fu;r nkc ij rkieku esa o`f) ds lkFk] fdlh xSl dk nkc c<+rk gSA

(E) rkieku esa o`f) ds lkFk] xSl dk vk;ru ?kVrk gSA

uhps fn, x, fodYiksa esa ls] lgh mÙkj pqfu,A

(1) dsoy A ,oa D

(2) dsoy A, B ,oa D

(3) dsoy B ,oa D

(4) dsoy A, B ,oa E
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Question ID:100038

Ans. Official Answer NTA (1)

Sol.

9.

k

(A)

k2m

m
k

(B)

2k
m

In figure (A), mass ‘2 m’ is fixed on mass ‘m’ which is attached to two springs of spring constant k. In

figure (B), mass ‘m’ is attached to two springs of spring constant ‘k’ and ‘2k’. If mass ‘m’ in (A) and in

(B) are displaced by distance ‘x’ horizontally and then released, then time period T
1
 and T

2
 corresponding

to (A) and (B) respectively follow the relation.

fp= (A) esa k fLizax fLFkjkad okyh nks fLizaxksa ls tqM+s 'm' nzO;eku ds lkFk ‘2 m’ nzO;eku tqM+k gqvk gSA fp= (B) esa, Øe'k% ‘k’

,oa ‘2k’ fLizax fLFkjkad okyh nks fLizaxksa ls nzO;eku ‘m’ tqM+k gqvk gSA ;fn nzO;eku ‘m’ dks (A) ,oa (B) esa 'x' {kSfrt nwjh ls

foLFkkfir djds NksM+ fn;k tkrk gS] rks fp= (A) ,oa (B) ds Øe'k% vkorZdky T
1
 ,oa T

2
 fuEu lEca/k }kjk fu#fir gksaxs%

(1) 
1

2

T 3

T 2


(2) 
1

2

T 3

T 2


(3) 
1

2

T 2

T 3


(4) 
1

2

T 2

T 3


Question ID:100039

Ans. Official Answer NTA (1)

Sol.

10. A condenser of 2 µF capacitance is charged steadily from 0 to 5 C. Which of the following graph

represents correctly the variation of potential difference (V) across it’s plates with respect to the charge

(Q) on the condenser ?

2 µF /kkfjrk okys ,d la?kfu= dks fu;rrk ls 0 ls 5 C rd vkosf'kr fd;k tkrk gSA la?kfu= ij vkos'k ds lkFk] bldh ifV~V;ksa

ds chp ds foHkokUrj esa ifjorZu dks fuEu esa ls fdl oØ }kjk fu#fir fd;k tk ldrk gS\
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(1) 

5

2.5

0

V
 (

 ×
 1

0
V

)
6

5 Q(C)

(2) 

5

2.5

0

V
 (

 ×
 1

0
V

)
6

5 Q(C)

(3)  

5

2.5

0

V
 (

 ×
 1

0
V

)
6

5 Q(C)

(4)  

5

2.5

0

V
 (

 ×
 1

0
V

)
6

5 Q(C)

Question ID:100040

Ans. Official Answer NTA (1)

Sol.

11. Two charged particles, having same kinetic energy, are allowed to pass through a uniform magnetic

field perpendicular to the direction of motion. If the ratio of radii of their circular paths is 6 : 5 and their

respective masses ratio is 9 : 4. Then, the ratio of their charges will be:
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leku xfrt ÅtkZ okys nks vkosf'kr d.k] fdlh ,dleku pqEcdh; {ks= ls xqtjus ds fy, Lora= gSa] tks fd mudh xfr dh fn'kk

ds yEcor~ gSA ;fn muds o`Ùkkdkj iFkksa dh f=T;kvksa dk vuqikr 6 : 5 gS] ,oa muds Øe'k% nzO;ekuksa dk vuqikr 9 : 4 gSA rks

muds vkos'kksa dk vuqikr gksxk% :

(1) 8 : 5

(2) 5 : 4

(3) 5 : 3

(4) 8 : 7

Question ID:100041

Ans. Official Answer NTA (2)

Sol.

12. To increase the resonant frequency in series LCR circuit,

(1) Source frequency should be increased

(2) Another resistance should be added in series with the first resistance

(3) Another capacitor should be added in series with the first capacitor

(4) The source frequency should be decreased

Js.khc) LCR ifjiFk esa vuquknh vko`fÙk dks c<+kus ds fy,%

(1) L=ksr dh vko`fÙk dks c<+kuk pkfg, A

(2) igys izfrjks/k ds lkFk dksbZ nwljk izfrjks/k Js.kh Øe esa tksM+uk pkfg,A

(3) igys la/kkfj= ds lkFk dksbZ nwljk la/kkfj= Js.kh Øe esa tksM+uk pkfg,A

(4) L=ksr dh vko`fÙk dks ?kVkuk pkfg,A

Question ID:100042

Ans. Official Answer NTA (3)

Sol.

13. A small square loop of wire of side l is placed inside a large square loop of wire L(L>>l). Both loops are

coplanar and their centres coincide at point O as shown in figure. The mutual inductance of the system

is:

l Hkqtk okyk] rkj dk ,d NksVk oxkZdkj ?ksjk] L Hkqtk okys] rkj ds ,d cM+s oxkZdkj ?ksjs ds vUnj j[kk gS] (L>>l) gSA fp= esa

n'kkZ;s vuqlkj] nksuksa ?ksjs ,d gh ry esa j[ks gSa] ,oa nksuksa ds dsUnz fcUnq O ij lEikrh gSA fudk; dk ikjLifjd izsjdRo gksxk%
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l

L

L L

L

O

l

ll

(1) 
2

02 2 µ L

l

(2) 

2
0µ

2 2 L

l

(3) 
2

02 2 µ

L

l

(4) 

2
0µ L

2 2l

Question ID:100043

Ans. Official Answer NTA (3)

Sol.

14. The rms value of conduction current in a parallel plate capacitor is 6.9 µA. The capacity of this capacitor,

if it is connected to 230 V ac supply with an angular frequency of 600 rad/s, will be:

fdlh lekukUrj ifV~Vdk la/kkfj= esa lapj.k /kkjk (daMDlu djaV) dk rms (oxZ ek/; ewy) dk eku 6.9 µA gSA ;fn bl

la/kkfj= dks 230 V ,oa 600 rad/s dks.kh; vko`fÙk okys ac (izR;korhZ /kkjk) L=ksr ls tksM+k tkrk gS] rks bldh /kkfjrk dk eku

gksxk%

(1) 5 pF

(2) 50 pF

(3) 100 pF

(4) 200 pF

Question ID:100044

Ans. Official Answer NTA (2)

Sol.
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15. Which of the following statement is correct ?

(1) In primary rainbow, observer sees red colour on the top and violet on the bottom

(2) In primary rainbow, observer sees violet colour on the top and red on the bottom

(3) In primary rainbow, light waves suffers total internal reflection twice before coming out of water

drops

(4) Primary rainbow is less bright than secondary rainbow

fuEu esa ls dkSulk dFku lR; gS \

(1) izkHkfed bUnz/kuq"k esa] izs{kd yky jax dks lcls Åij ,oa cSaxuh jax dks lcls uhps ns[krk gSA

(2) izkFkfed bUnz/kuq"k esa] izs{kd cSaxuh jax dks lcls Åij ,oa yky jax dks lcls uhps ns[krk gSA

(3) izkFkfed bUnz/kuq"k esa] ikuh dh cw¡n ls ckgj vkus ls igys izdk'k fdj.k nks ckj iw.kZ vkUrfjd ijkorZu ls xqtjrh gSA

(4) izkFkfed bUnz/kuq"k] f}rh;d bUnz/kuq"k dh rqyuk esa de pedhyk gksrk gSA

Question ID:100045

Ans. Official Answer NTA (1)

Sol.

16. Time taken by light to travel in two different materials A and B of refractive indices µ
A
 and µ

B
 of same

thickness is t
1
 and t

2
 respectively. If t

2
 – t

1
 = 5 × 10–10 and the ratio of µ

A
 to µ

B
 is 1 : 2. Then, the thickness

of material, in meter is: (Given v
A
 and v

B
 are velocities of light in A and B materials respectively.)

leku eksVkbZ] okys nks vyx&vyx inkFkksZa A ,oa B, ftudk viorZukad Øe'k% µ
A
 ,oa µ

B
 gS] ls xqtjus esa izdk'k dks Øe'k%

t
1
 ,oa t

2
 le; yxrk gSA ;fn t

2
 – t

1
 = 5 × 10–10 s ,oa µ

A
 rFkk µ

B
 dk vuqikr 1 : 2 gS] rks inkFkksZa dh eksVkbZ ehVj esa gS:

(fn;k x;k gS fd inkFkZ A ,oa B esa izdk'k dk osx Øe'k% v
A
 ,oa v

B
 gSA)

(1) 5 × 10–10 v
A
 m

(2) 5 × 10–10 m

(3) 1.5 × 10–10 m

(4) 5 × 10–10 v
B
 m

Question ID:100046

Ans. Official Answer NTA (1)

Sol.

17. A metal exposed to light of wavelength 800 nm and emits photoelectrons with a certain kinetic energy.

The maximum kinetic energy of photo-electron doubles when light of wavelength 500 nm is used. The

workfunction of the metal is : (Take hc = 1230 eV-nm).
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fdlh /kkrq dks 800 nm rjaxnS/;Z okys izdk'k ls iznhIr fd;k tkrk gS] ftlls fdlh fu;r xfrt ÅtkZ ds QksVksbysDVªkWu

mRlftZr gksrs gSaA ;fn 500 nm rajxnS/;Z dk izdk'k iz;qDr fd;k tk, rks QksVksbysDVªkWuksa dh vf/kdre xfrt ÅtkZ dk eku

nksxquk gksrk gSA /kkrq ds dk;ZQyu dk eku gksxk: (ekuk hc = 1230 eV-nm).

(1) 1.537 eV

(2) 2.46 eV

(3) 0.615 eV

(4) 1.23 eV

Question ID:100047

Ans. Official Answer NTA (3)

Sol.

18. The momentum of an electron revolving in nth orbit is given by:

(Symbols have their usual meanings)

nth - d{kk esa ?kwe jgs bysDVªku ds laosx dk eku gksxk:

(lHkh ladsr vius lkekU; vFkZ ds lkFk iz;qDr gq, gSa)

(1)  
nh

2 r

(2) 
nh

2r

(3) 
nh

2

(4) 
2 r

nh



Question ID:100048

Ans. Official Answer NTA (1)

Sol.

19. The magnetic moment of an electron (e) revolving in an orbit around nucleus with an orbital angular

momentum is given by:

ukfHkd ds pkjksa rjQ fdlh d{kk esa d{kh; dks.kh; laosx ls ?kwe jgs ,d bysDVªku (e) dk pqEcdh; vk?kw.kZ gksxkA

(1) L

eL
µ

2m





(2) L

eL
µ

2m
 



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(3) 
eL

µ
m

 



l

(4) 
2eL

µ
m





l

Question ID:100049

Ans. Official Answer NTA (2)

Sol.

20. In the circuit, the logical value of A = 1 or B = 1 when potential at A or B is 5V and the logical value of

A = 0 or B = 0 when potential at A or B is 0 V.

ifjiFk esa, A ;k B, 5 V ds foHko ij gSa rks rkfdZd eku A = 1 ;k B = 1 gSa rFkk A ;k B, 0 V ij gSa rks rkfdZd eku

A = 0 ;k B = 0 gSaA

D 2

D 1
A

B
R

5V

V= 0

Y

The truth table of the given circuit will be:

fn, x, ifjiFk dh lR;kiu lkj.kh gksxh%

        A             B             Y

(1)   0             0              0

        1             0              0

        0             1              0

        1             1              1

(2)   0             0              0

        1             0              1

        0             1              1

        1             1              1

(3)   0             0              0

        1             0              0

        0             1              0
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        1             1              0

(4)   0             0              1

        1             0              1

        0             1              1

        1             1              0

 Question ID:100050

Ans. Official Answer NTA (1)

Sol.

21. A car is moving with speed of 150 km/h and after applying the break it will move 27 m before it stops.

If the same car is moving with a speed of one third the reported speed then it will stop after travelling

___________ m distance.

,d dkj 150 km/h dh pky ls py jgh gSA czsd yxkus ds ckn :dus ls igys ;s 27 m dh nwjh r; djrh gSA ;fn ;gh dkj

igys dh ,d frgkbZ pky ls py jgh gS] rks czsd yxkus ds ckn] :dus ls igys ;s ___________ m dh nwjh r; djsxhA

Question ID:100051

Ans. Official Answer NTA (3)

Sol.

22. Four forces are acting at a point P in equilibrium as shown in figure. The ratio of force F
1
 to F

2
 is

1 : x where x = _________________.

fp= esa n'kkZ;s vuqlkj] lkE;koLFkk esa pkj cy fdlh fcUnq P ij vkjksfir gSaA cy F
1
 dk cy F

2
 ds lkFk vuqikr

1 : x gS] tgk¡ x = _________________ gksxkA

2N 1N

45°
45°45°

90°
P F 1

F 2

Question ID:100052

Ans. Official Answer NTA (3)

Sol.

23. A wire of length L and radius r is clamped rigidly at one end. When the other end of the wire is pulled

by a force F, its length increases by 5 cm. Another wire of the same material of length 4L and radius 4r

is pulled by a force 4F under same conditions. The increase in length of this wire is ____________cm.
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L yEckbZ ,oa r f=T;k dk ,d rkj, vius ,d fljs ij n`<rk ls tMk gqvk gSA tc rkj dk nwljk fljk] F cy ls [khapk tkrk gS,

rks bldh yEckbZ esa 5 cm dh o`f) gksrh gSA leku inkFkZ dk cuk] 4L yEckbZ ,oa 4r f=t;k dk dksbZ nwljk rkj] leku

ifjfLFkfr;ksa ds vUrxZr 4F cy ls [khapk tkrk gSA rks bl rkj dh yEckbZ esa gqbZ o`f) dk eku ____________cm gksxhA

Question ID:100053

Ans. Official Answer NTA (5)

Sol.

24. A unit scale is to be prepared whose length does not change with temperature and remains 20 cm, using

a bimetallic strip made of brass and iron each of different length. the length of both components would

change in such a way that difference between their lengths remians constant. If length of brass is 40 cm

and length of iron will be ________________cm.

(
iron

 = 1.2 × 10–5 K–1 and 
brass

 = 1.8 × 10–5 K–1).

vyx&vyx yEckbZ;ksa ds ihry ,oa yksgs ls fufeZr ,d f}/kkfRod iêh dk iz;ksx djds ,d ek=d iSekuk cukuk gS] ftldh yEckbZ

rkieku ds lkFk ifjofrZr uk gks ,oa 20 cm gh jgsA nksuksa /kkfRod ?kVdksa dh yEckbZ bl izdkj ifjofrZr gks fd mudh yEckbZ;ksa

ds chp dk varj fLFkj jgsA ;fn ihry dh yEckbZ 40 cm gS] rks yksgs dh yEckbZ ________________cm gksxhA

(
yksgs

 = 1.2 × 10–5 K–1 ,oa 
ihry

 = 1.8 × 10–5 K–1).

Question ID:100054

Ans. Official Answer NTA (60)

Sol.

25. An observer is riding on a bicycle and moving towards a hill at 18 kmh–1. He hears a sound from a

source at some distance behind him directly as well as after its reflection from the hill. If the original

frequency of the sound as emitted by source is 640 Hz and velocity of the sound in air is 320 m/s, the

beat frequency between the two sounds heard by observer will be_____________Hz.

,d izs{kd fdlh lkbfdy ij lokj gS] ,oa ,d ioZr dh rjQ 18 kmh–1 dh pky ls tk jgk gSA og] ,d L=ksr tks fd mlds

ihNs dqN nwjh ij gS] ls lh/ks ,oa ioZr ls ijkofrZr gksus ds i'pkr~ /ofu dks lqurk gSA L=ksr ls fudyh /ofu dh okLrfod vko`fÙk

640 Hz gS] ,oa ok;q esa /ofu dk osx 320 m/s gSA izs{kd }kjk lquh xbZ nksuksa /ofu;ksa ds chp dh foLian vkòfÙk _____________Hz

gksxhA

Question ID:100055

Ans. Official Answer NTA (20)

Sol.
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26. The volume charge density of a sphere of radius 6 m is 2 µC cm–3. The number of lines of force per unit

surface area coming out from the surface of the sphere is ________________ × 1010 NC–1.

[Given: Permittivity of vacuum 
0
 = 8.85 × 10–12C2N–1 – m–2]

6 m f=T;k okys ,d xksys dk vk;ru vkos'k ?kuRo 2 µC cm–3 gSA xksys ds i`"B ls ckgj vk jgh cy js[kkvksa dh izfr bdkbZ

i`"B {ks=Qy la[;k ________________ × 1010 NC–1 gksxhA

[fn;k gS: fuokZr dk ijkoS|qrkad = 8.85 × 10–12C2N–1 – m–2]

Question ID:100056

Ans. Official Answer NTA (45)

Sol.

27. In the given figure, the value of V
0
 will be ______________ V.

fn, gq, fp= esa] V
0
 dk eku ______________ V gksxkA

2V

4V

6V

1k

1k

1k

V 0

Question ID:100057

Ans. Official Answer NTA (4)

Sol.

28. Eight copper wire of length l and diameter d are joined in parallel to form a single composite conductor

of resistance R. If a single copper wire of length 2l have the same resistance (R) then its diameter will

be _________________ d.

R izfrjks/k dk ,d fefJr pkyd cukus ds fy,] l yEckbZ ,oa d O;kl okys vkB rk¡cs ds rkjksa dks ik'oZ Øe esa tksM+k tkrk gSA

;fn 2l yEckbZ okys fdlh vdsys rk¡cs ds rkj dk izfrjks/k (R) leku gS] rks bl rkj dk O;kl _________________ d gksxkA

Question ID:100058

Ans. Official Answer NTA (4)

Sol.
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29. The energy band gap of semiconducting material to produce violet (wavelength = 4000 Å).

LED is _______________ eV. (Round off to the nearest integer).

cSaxuh (rjaxnS/;Z = 4000 Å) LED cukus ds fy,] v)Zpkyd inkFkZ dk ÅtkZ cSaM vUrjky  _______________ eV gksxkA

(mÙkj fudVre iw.kkZad esa nks)

Question ID:100059

Ans. Official Answer NTA (3)

Sol.

30. The required height of a TV tower which can cover the population of 6.03 lakh is h. If the average

population density is 100 per square km and the radius of earth is 6400 km, then the value of h will be

_____________ m.

6.03 yk[k tula[;k dks izlkj.k iznku dj ldrs ds fy,] TV VkWoj dh vko';d Å¡pkbZ dk eku h gSA ;fn vkSlr tula[;k

?kuRo dk eku 100 izfroxZ fdyksehVj gS ,oa i`Foh dh f=T;k 6400 km gS, rks h dk eku _____________ m gksxkA

Question ID:100060

Ans. Official Answer NTA (150)

Sol.


